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M: 1 means 1 mark for the correct method.
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Q. Answer Mark Additional Guidance
1. () 102 1 A1 T
(i) 251 1 A:1
i)y |8 1 | A1 -
]
(iv) -5 1 A:1
(v) |154 1 A1
(vi) |80.57 1 A: 1
(vii) 1006 1 A:1
(viii)y | 102 1 | A1 ]
2. (i) (a)| 38 1 A:1
(b)| 65 1 A:1
@ | cm 2 |M:1for103seen |
A:1
3. (i) 7 1 A:1
(ii) £1.69 2
4. Adam: 28 2 M: 1 for 60 + 15
Beth: 32 A: 1 for both 28 and 32
5 (@) (i)|5 1 A1
(i) | 2 1 A:1
(iii) | 23 1 A: 1
(b) =3 1 A: 1
6. (i) 1211 2 N
(ii) 289 2
(iii) 643 2 —
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a. Answer Mark Additional Guidance
7. (i) 7990 1 A:1
(ii) 81.3 1 A: 1
8. (i) 675 2 M: 1 for 450 and 225
or 600 and 75
A1
(ii) £1.80 2 M: 1 for 6.75
A1
9. 12.5 minutes 1 A:1
10. (i) 30cm 2 M:1for12 x 2.5
A:1
(ii) 1.8m 2 M: 1 for 180cm
A1
(iii) 24km 2 M:1for15 x 1.6
A1
(iv) 20kg 2 M:1ford44 = 2.2

A:1
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Q. Answer Mark Additional Guidance
1. (a) (i)| w= 165° 2 M: 1 subtracting from 360
A:1
(ii)| p = 50° 2 A:1forp
qg=170° A:1forqg
(b) 55° 2 M: 1 for 110 = 2
A:1
(©) C
A
angle ABC drawn A: 1 allow angle ABC to

be 108°-112°
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Answer

Mark

— |

Additional Guidance

12. name

parallelogram

kite

trapezium

rhombus

shape

properties

two pairs of
opposite sides
equal in length

all four sides are
equal in length

exactly one pair of
equal angles

exactly one pair of
parallel sides

3 A: 3 for all arrows correct
subtract 1 mark for each
error or omission

13. (i) 24 and 38 1 A: 1 both needed
(ii) add 7 1 A:1
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Q. Answer Mark Additional GUidanCe
14. (a) 6cm? 2
(b) (i)| 56cm 2
(ii)| 96cm? 2 M: 1 e.g.for 120 — 24
or30+ 16 + 50
A1
I
(c) 24cm 1 A: 1
(d) 2cm? 1 A: 1
15. (a) any positive values of x and y such that 2x 2 A: 1 for each correct pair
+ y=20 (x and y need not be
whole numbers)
and y is less than 10
eg.x=7cmand y=6cm
orx=38cmand y=4cm
(b) (i)| 22 wheels 1 A1
(i) anytwoof c=0, m=6 2 A: 1 for each correct pair
c=1,m=4
c=2, m=2
c=3, m=0
16. (i) 30° 1 A:1
(ii) 30 1 A:1
i) |3 1 A: 1
(iv) |60 2 M: 1 for g of 480
A1
17. 2 hours 39 minutes 2
18. (i) -6, 72,5,7,14, 21 2 A: 2 for all correct
A: 1 for one number in
the wrong place
(ii) 27°C 1 A:1
(iii) 1320 1 A:1




Answer

Mark Additional Guidance
— ]
19. (@) ()] 12 1 A: 1
— ] ]
(I|) 18 1 A1
vl P
b) |32 1 A: 1
. 1
20. () 6 2 M: 1 for =5 or =
Al
(i) |9 2 M: 1 for 10
A:1
(iii) (a)| 0.2 1 A: 1
(b)| 0.55 2 M: 1 for 0.75
A1
21. 50% & 3 3 3 A: 1 for 50% smallest
A: 1 for 2 largest
A: 1for % and 2
correctly ordered
22. £9.60 2 M: 1 for £ of total = £6.40

A:1
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a. I —— lrMaT Additional Guidance |
R | S
+3
ﬁ
row 1 4
row 4 -.Z--
3 A:1forthe2 and 3in
the triangles
A:1forthe 4,5and 7 in
the squares
A:1forthe2 and 6 in
the pentagons
(i)
1 A: 1 both x and —
needed
(iii) 6 1 A: 1 for the 6 in the circle
(iv)
row 5 '.9..
2 A: 1 for5,8and 10
A: 1 for 30
Total 100




